4740

95

100

SR344 - ELEVATION ON
TOP RAIL

4740

151

140

SR344 - PLAN VIEW ON
TOP RAIL

115
18
: ©°
13.5
SR151- WASHER PLATE ~—
115x 40 x 6 DIA.18
- = SR341- M12
[ WASHER 13.5¢ HOLE
wn
wn ™
¥ H
. 218
M16 L M12 _ @

SR300 - M16

50

SR201 - 8.8 M16x45
PANHEAD c/w NUT

PLATE LENGTH

SR342 - 8.8 M12x35
PANHEAD ¢/w NUT ~ WASHER 18¢ HOLE

PLATE LENGTH

700 MAX

700 MAX

L]

50

' APPROACH

290

62.5
wn
N
—
)
@ o
SR343 - POST
SPACER

04 |08/12/23| PART NUMBERS UPDATED

H.B

03 |11/09/23|WASHER PLATE CODE CHANGE | H.B

1 1
DEPARTURE ?

OFFSET POST

OFFSET POST

CAN BE FIXED WITH
CAST IN ANCHORS, DRILL & FIX
ANCHORS OR PUSHED IN ANCHORS
AT 180x180 CENTRES

400

7 -

! !
Io ol o

PLATE LENGTH
700 MAX

*BASEPLATE

DRILL & TAPPED [o | o AN
FOR LIFTING EYE |_ | I

400

< PLATE LENGTH

4 No. M20 Dia. 700 MAX
THREADED HOLES

02 |10/02/23 SMP DETAIL UPDATE H.B
01 ]06/02/23| M12 BOLT DETAIL CHANGE | H.B
00 (30/08/22 DRAWING CREATED H.B
REVN DATE DETAILS INITIAL

MEGARAIL xn
N2W4

MEGARAIL xn VEHICLE RESTRAINT
SYSTEM COMPONENTS SCHEMATIC

B sAaFeroAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

125 | 125 | 125 | 125 |
n 1 n 1 n 1 n 1 — D U
ST ST ST T ) o
) ] ) ) n T 0
225 |
o
]
N
[a)
o
[=
o
o
@
£
o
o
o
~N
o
g 11
SR349 - "C" 125x125
1200mm x 5 290
SR479 - "C" 125x125
SURFACE MOUNTED
SR345 - "C" 125x125
1800mm x 5
SR347 - "C" 125x125
2000mm x 5
130 INT.
SR348 - "C" 125x125 130 INT. E
2400mm x 5 130 INT. E =
= 2 =
- ~—
o
[32]
]
o 2
2 ] o
@
SR100 - A21 SR184 - SR186 - SR185 -
REINFORCING C-125x125 C-125x125 C-125x125
RING POST SOCKET POST SOCKET POST SOCKET
x 450 x 500 x 550

DRAWING NUMBER:

MR-xn-GA-00

REVn:

04




RAILS SIT ON TOP OF
EACHOTHER AND LAP

. =

TRAFFIC FLOW —

EXPANSION ASSEMBLY TO BE
INSTALLED EVERY 90-110M (SEE GA-41)

SR343

EXPANSION NOTE ADDED H.B

PART NUMBERS UPDATED H.B

C-125X125 C-125X125
6000 6000
POST CONNECTION 04 [12/12/24
TYPE 1 240 240 POST CONNECTION
RAIL TRAFFIC FLOW RAIL TYPE 1 03 |08/12/23
LAP
LAP 02 |11/09/23|WASHER PLATE CODE CHANGE| H.B

d =

= E

SPACER BRACKET

TABLE 'A' - SYSTEM COMPONENT SCHEDULE - QTY'S / 4.74m RAIL

SAFEROAD
PART DESCRIPTION QUANTITY
NUMBER
SR344 TOP RAIL 1
SR343 C125x125 SPACER 2
SEE TABLE 'B' | POST "C" 125x125 1
SR151 M16x115x40x6 WASHER PLATE 2

FOR SCHEDULE OF BOLTED CONNECTIONS REFER TO DRAWING

NUMBER MR-xn-GA-02

TABLE 'B' - SCHEDULE
OF POST REFERENCES
SAFEROAD | pocr
PART | LENGTH
NUMBER
SR349 1200
SR345 1800
SR347 2000
SR348 2400

TRAFFIC FLOW

GENERAL NOTES:

1.
2.

POST ORIENTATION TO BE FLIPPED EVERY 6M

WHEN TYING INTO ADJACENT VRS ONLY ONE
WORKING WIDTH DIFFERENCE IS PERMITTED.

. WHERE A KERB IS PRESENT THE MAXIMUM

KERB HEIGHT IS 125mm.

. FOR MINIMUM LENGTH OF FULL HEIGHT VRS

REFER TO SAFEROAD MEGARAIL MANUAL.

. SR342 TO BE PREDOMINANTLY INSTALLED IN

ORIENTATION SHOWN ABOVE. SEE MR-xn-GA-02
FOR FURTHER DETAILS

. ON VERGE LOCATIONS, SR342 TO BE INSTALLED

AT TRAFFIC FACE

=

SPACER BRACKET J

1300MM @ W4

TOP RAIL —\

POST
C125x125

750 +/-50

POST ORIENTATION DETAILS

01 [06/02/23] UPDATED

00 |30/08/22f DRAWING CREATED H.B

REVn DATE DETAILS INITIAL

MEGARAIL xn
N2wW4

MEGARAIL xn VEHICLE RESTRAINT
SYSTEM ASSEMBLY & SETTING OUT
ARRANGEMENT

B sAaFerRoAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVN:

MR-xn-GA-01 04




(TOP SIDE RAIL) A SR343
T -5
=0
i A —f
BT
" R

v

-

N

o

=
b Y Y 4

TOP RAIL TO SPACER
CONNECTION TYPE 3

/

SR342

_________________________k_t__

POST SPACER TO POST
(VIEW AT TRAFFIC FACE)
CONNECTION TYPE 4

04 |08/12/23| PART NUMBERS UPDATED H.B

03 [11/09/23|WASHER PLATE CODE CHANGE| H.B

02 ]19/05/23 NOTE REMOVED H.B

01 ]06/02/23| FIXING DETAILS UPDATED | H.B

00 |30/08/22 DRAWING CREATED H.B

REVn DATE DETAILS INITIAL

MEGARAIL xn
N2wW4

MEGARAIL xn VEHICLE RESTRAINT
SYSTEM BOLTING ARRANGEMENTS

B saFeroAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

i SR342 F = [ |
.SR341 -
SR343 SR201
SR300
A
VIEW ON C-C
RAIL TO RAIL CONNECTION (ELEVATION ON MID-RAIL
ARRANGEMENT SPACER)
CONNECTION TYPE 1 TOP RAIL TO POST
(THROUGH SPACER)
CONNECTION TYPE 2
BOLTING COMPONENT SCHEDULE - QTY'S / RAIL TO POST CONNECTION -
CONNECTION TYPE 2
SAFEROAD RAIL TO
SR201 SR151 PART DESCRIPTION POST
NUMBER CONNECTION
r=—-9% r=—-9%
! V4 SR201 | SETSCREW 8.8 M16 x 45 c/w NUT 2
I | (@) | ? ° SR151 | WASHER PLATE 115 x 40 x 6 DIA. 18 2
: SR300 | M16 WASHER 18¢ HOLE 2
| SR343
I
PosT ! SR201
BOLTING COMPONENT SCHEDULE - QTY'S / RAIL TO SPACER (MID RALL) -
I SR300 VIEW ON A-A CONNECTION TYPE 3
I
' (RAIL LAP ELEVATION) SAFEROAD RAILTO
VIEW ON B-B CONNECTION TYPE 1 \ EQEER DESCRIPTION CONT\I%?I'ION
(TOP RALL TO POST ELEVATION) SR201 | SETSCREW 8.8 M16 x 45 c/w NUT 2
CONNECTION TYPE 2 ’
SR151 | WASHER PLATE 115 x 40 x 6 DIA. 18 2
BOLTING COMPONENT SCHEDULE - QTY'S / RAIL TO RAIL CONNECTION - SR300 M16 WASHER 189 HOLE 2
GENERAL NOTES: CONNECTION TYPE 1 (1No. P/RAIL)
1. NUMBERS IN THE SCHEDULES SUFFIXED (+) SAFEROAD
DENOTES THE ADDITIONAL QUANTITY OF PART DESCRIPTION RAIL TO RAIL
COMPONENTS REQUIRED FOR EXTREME ENDS NUMBER CONNECTION BOLTING COMPONENT SCHEDULE - QTY'S / POST SPACER TO POST -
OF INDIVIDUAL RUNS OF BARRIER OR FOR CONNECTION TYPE 4 (1No. P/POST)
NOTED PURPOSE. SR201 | SETSCREW 8.8 M16 x 45 c¢/w NUT 7
SAFEROAD
2. M12 BOLT INSTALLED ON SIDE WHERE RAIL LAP SR300 | M16 WASHER 186 HOLE 7 PART DESCRIPTION RAIL JOINT
HAS TRAFFIC FLOWING TOWARDS UN-COVERED NUMBER CONNECTION
EXTREME EDGE OF TOP SIDE RAIL. SR342 SETSCREW 8.8 M12 x 35 c/w NUT 1(+1)
SR342 | SETSCREW 8.8 M12 x 35 ¢/w NUT 1
3. ON VERGE LOCATIONS, SR342 TO BE INSTALLED SR341 | M12 WASHER 13.50 HOLE 1(+1)
AT TRAFFIC FACE. SR341 | M12 WASHER 13.5¢ HOLE 1

DRAWING NUMBER: REVn:

MR-xn-GA-02 04




LEFT HAND BEAM
NOTE: RAIL ORIENTATION

RAILS SIT ON TOP OF
EACHOTHER AND LAP

— = = oo | l—POSTClZleZS

LEFT HAND BEAM
LAPPED OVER RIGHT
HAND BEAM

RIGHT HAND BEAM

AS SHOWN ABOVE. RAIL PROFILES

AT EITHER END DIFFER
TO AID FIT

POST CONNECTION

" TYPE 1

GENERAL NOTES:
1. POST ORIENTATION TO BE FLIPPED EVERY 6M

02 (08/12/23 LOGO UPDATED H.B

01 |06/02/23| HIDDEN DETAIL REMOVED | H.B

00 |[30/08/22] DRAWING CREATED H.B

REVn DATE DETAILS INITIAL

_—

¢ f
¢ fo— —
o
| | I
240
RL//\\II;- POST SPACER

RIGHT HAND BEAM

NOTE: RAIL ORIENTATION

AS SHOWN ABOVE. RAIL PROFILES
AT EITHER END DIFFER

TO AID FIT

MEGARAIL xn
N2w4

MEGARAIL xn VEHICLE RESTRAINT
SYSTEM RAIL LAPPING DETAIL FOR
N2 MEGARAIL SYSTEM

B sAaFerRoAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

MR-xn-GA-03 02




GENERAL NOTES:

1. IF THE SITE CONDITIONS DO NOT ALLOW
A POST TO BE INSTALLED ON THE SYSTEM
PITCH DEVIATIONS CAN BE APPLIED. THE
OBSTRUCTED POST CAN BE LEFT OUT AND
EXTRA POSTS INSTALLED TO SPAN THE
OBSTRUCTION. THE NEW POST SPACING
MUST NOT EXCEED 6000mm. ALTHOUGH
IT WOULD BE BENEFICIAL TO USE THE
HOLES ALREADY IN THE BEAM IT IS
ACCEPTABLE TO DRILL NEW HOLES IN THE
DESIRED POSITIONS AND TREAT WITH
ZINC RICH PAINT.

2. OFFSET POSTS SHOWN ON DRAWING
MR-xn-GA-00 CAN BE USED.

6000
(NORMAL POST POSITION PRIOR TO DEVIATION)

TRAFFIC FLOW

= 3 P s = = s = E = s = = & ==

| OBSTRUCTION ‘

Wyprzizrzzzzzzzzz2zzz2zz722,

6000 4500 6000

03 |08/12/23 LOGO UPDATED H.B

6000 6000 6000 02 [05/07/23 DETAILS UPDATED H.B

01 [10/02/23|  SMP DETAIL UPDATE H.B

00 |[30/08/22] DRAWING CREATED H.B

= = = @ — REVn DATE DETAILS INITIAL

=== EH | == B = == == |

MEGARAIL xn
N2wW4

|
MEGARAIL xn VEHICLE RESTRAINT

" i l W
DRILL & FIX OR SYSTEM

CRADLE ANCHOR OBSTRUCTION | DEVIATION SETTING OUT
ARRANGEMENT

B sAaFeroAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

MR-xn-GA-40 03




TRAFFIC FLOW

4740

SPECIAL LENGTH TOP RAIL MAY
BE REQUIRED TO ENSURE EXPANSION
ASSEMBLY IS IN CORRECT PLACE

EXPANSION ASSEMBLY

1

P

4740 4740 1602 2968 4740
STANDARD TOP RAIL STANDARD TOP RAIL EXPANSION RAIL EXPANSION RAIL STANDARD TOP RAIL
(43500 EFFECTIVE LENGTH> 240 (43500 EFFECTIVE LENGTH> 240 ] 170 240 (4500 EFFECTIVE LENGTH> 240
- - - B - - LJ -5 - - - - - B M »»EE' g = -« o o - - - - - - 1= L;_
PLAN VIEW ON MEGRAIL XN
Lo TRAFFIC FLOW EXPANSION ASSEMBLY LAYOUT ]
SCALE: 150
% SYSTEM CONTINUATION SYSTEM CONTINUATION —%
‘ 4740 ‘
‘ EXPANSION ASSEMBLY ‘
6000 6000 6000 6000
’—‘B P 4\
- - + B B3 =] - - - - + W B3] - -] = - - X + B - - - - < F3
\MID—BAY iy \MID—BAY \MID—BAY
SPACER 3 SPACER SPACER
N~ _JB
A=A
(ELEVATION ON EXPANSION ASSEMBLY)
SCALE: 1150
100,125 (170> , 125 100
| | | |
—=E— —> f 1
® P === e s
1 1 1 1
\—éNo‘ 178x18
.%_ 1000 -%_
100, 175 | (170> 175 100 MEGARAIL XN
; TOP RAIL
GENERAL NOTES; — iy | = 1 — N2W4
, & w[== : ’ e
S#EQEIIIESI;SIDNS IN MILLIMETRES UNLESS NOTED 1 [ GENERAL ARRANGEMENT DETAILS
48NN°C‘) 8;?511539 FOR EXPANSION ASSEMBLY
FOR GENERAL DETAILS REGARDING MEGARAIL XN, ‘ ‘
SEE SYSTEM MANUAL DRAWINGS
FOR MINIMUM LENGTH OF FULL HEIGHT VRS, REFER % EXPANSION ASSEMBLY ‘
, _l2 DETAILS
IR I LENGTH O okl SAFEROAD
SPECIAL LENGTH TOP RAIL MAY BE REQUIRED TO M 2 é
$:EUEEREEE$N§ILEX\::£SSEMBLY IS INSTALLED IN S0ST COLUM g CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
EXPANSION ASSEMBLY TO BE INSTALLED EVERY NORTH LINCOLNSHIRE, DN15 8XE
S0M-110M. T: 01724 289119
POST DRIENTATION REVERSED ON EVERY OTHER i FOR TECHNICAL ASSISTANCE CONTACT
POST john.cudlipp@saferoad.co.uk
B-B 01 f17/11/23 LOGO UPDATED H.B [DRAWING NUMBER: REVA
EXPANSION ASSEMBLY MUST FALL ON INo. POST SYSTEM SSEELTEIQ';'E’ THROUGH
POSITION 00 |22.03.23 DRAWING CREATED H.B MR_XN_GA_41 01
REVn | DATE DETAILS INITIAL






